STAR
/TI 77>

A R

77

ok

BMBa—FK  K28113 - K28116 - K28119 - K28122
& ‘t‘. FDNV-901 - FDNVA-901 - FDNVG-901 - FDNVG-301M

- BRIEXDRIZ., TRAKETERT I,
- HRERO—ENIE, £ £y MEGEOADSENAHY £

ISt IHIA Y —




1T

"

H&O ITEXIZDONT

AERROBRBERICONT

1L HBaR CHESCOBRE, FTRER 2 EK <
v,

& A

B (BGEER)

Rl B

Meh =

@ @ #
AL (BEE %) ITHRERREL JUSE
DR — 5T L— MIERLTHET,

® e un

2. EEMOH - [ Jx. BTFozZLeRLT
BYET,
Hvane, maaEncnsEg
AL 2 1T & ) B B
7 vesiicasnsimac, W
fin T e L v,

Z DG OFREFE O SHGAERR GHIRD I,
BLEITHE Y #% 9 TT, L, HEEERN
ThHoTh, BEHESIZ OV TR 2D
RIS TCWEELEALLY =1,

FRIEE S O RHIENCIX ERR O e 4 R
THRTLESTE, HaFRBRETH->Th,
WS O TEE N B o T -SRI IS K UMl
B OV T IR ST T REE £,



FDNV-901-FDNVA-901-EDNVG-901 - FDNVG-901M
JL— LB

No.| &% [ FHE B3 || No. RE T i R
1 | E2924-001 | ZL—L4 1l|BT-1| E2010-056 | A HEA L+ M16 % 50(SW,N) 16
2 [E2924-002 | HAFI7L—A R 1{|BT-2| E2010-120| A FAIL L M20 X 150 (SW,N) 1
3 | E2024-003 |[HAFI7L—.A L 1 {|BT-3| E2010-033 | ABA LI M14 x 50(P2)(PW) 2
4 | E2925-503 |k UL S, 1{|BT-4| E2010-240 | # /TR &ALk |M16 X TO(SWN) 5
5 | E2625-101 U FEL 10mm 3
6 | E2924-004 | A b2t R 1
7 1 E2924-005 R b/ L 1
8 | E2802-020| 24 2
g | E2625-100(1) 2 FE 2, 6mm 2
10 | E2888-002|A7 9tk |C-2 1
11 | E2888-003 |p7 s o w ot hs— 2
12 | E2924-006 | R &2/ 1
13| E2888-010 (/31T 52 10X 60 i
14 | E2924-007 | 2HILFR)LSH —|FDNV 1




FDNV-901 - FDNVA-901 - FDNVG-901
T4 T

No. Lk R Joic) Gk No. ks TR Jikic) 1
1 924-008 | 712 9 BT-1 | 010-091 | RAAIL b+ M18 x 70 (SW, N) 9
2 | 925-013 | A%k NV 9 BT-2 | 010-240 | BFREMR/L ~ | M16xT70(SW,N) 9
3 | 925-016 | A%k NVA 9 BT-3 | 010-236 | MBAARIL + M12 x 70 (SW, N) 9
4 | 925-026 | A%k NVG 9 BT-4 | 010-237 | MBARIL + M12 x 105 (SW, N) 9
5 1925024 | GR—F - R NVG 4
6 | 925025 | GAR—F - L NVG 4
7 925-034 | gih—F - C NVG 1
8 925023 | w1 NVA-NVG 9




FDNVG-901M
T4 T

No. Lk TR Jirkic) &2 No. & TR Jiic) 1EE:
1 | E2924-008 | 71 7 9 BT-1 | E2010-091 | RAARIL b+ M18 x 70 (SW, N) 9
2 | E2925-023 | o4 Y 9 BT-2 | E2010-240 | &R &AL b | M16 x 70 (SW, N) 9
3 | E2925-029 | #AEGH - A" yk |R 4 BT-3 | E2010-236 | MiRAAKIL + M12 x 70 (SW, N) 9
4 | E2925-030 | #iEGH -MA'wb | L 4 BT-4 | E2010-237 | MARAKIL + M12 x 105 (SW, N) 9
5 | E2925-040 | #AEGH -F A 9b | CEVH-) 1 BT-5 | E2010-007 | MAR AL + M10 x 35 (SW, N) 18
6 | E2925-026 | Ak 9 BT-6 | E2010-002 | ML b M8 x 30 (SW, N) 54
7 | E2925-027 | &R G & -M R(2 N -9%H) 4

8 | E2925-028 | &R G & -} L (2 -9%H) 4

9 | E2925-041 | &R G & -F C (2N -9%8) 1

KATAMD GF - A" 9b - GF -M [ERB-@) TY,




FDNV-901
HIO0—5—EH

No.| R & s g {E# || No. i iR ik ik
1 [ E2924-008 |0 —5—~F—A 2|[BT-1] E2010-075 | A &HAILH M16 % 130 (SW.N) 10
2 | E2925-130| P—AF L—F 2 ||BT-2| E2010-056 | A BAI M16 X 50(SW,PW.N) 4
3 | E2925-215|0—5—7L—.L4 1 ||BT-3| E2010-060 {7~ @A I+ M16 x 60{SW,PW.N) 4
4 | E2925-517|_RPV4 306 2 [|BT-4] E2010-074 | A BAI R M16 % 100{SW,N) 2
5 | E2025-132 |[#@ 7L —k 2 [|BT-5] E2010-078 { R AAIL b M16 % 160{SW,N) 4
6 | E2025-122|hdn—5— 1|{BT-6| E2010-077 | A AA L M16 % 150{SW,N) 6
7 | E2824-010 | hIF BRAFT 54wk [R 1
8 | E2024-011 |ATB{t IS4 vk L 1
9 | E2924-012 [p3FS55vbFL—+ 2
10 | E2700-054 [O—LE 2 6% 35 2
11| E2924-013| P— LTS5 5 vk 2
12 | E2924-014 [7— 4755 9kdL—k 2
13 | E2925-506 | w2 2
14| E2625-100 [ FEY Smm 2




FDNVA-901-FDNVG-901-FDNVG-901M
Ad0—S5—EH

No| ®B%E IR I B No. i R B 2
1 | E2925-015|0—5—FP—1, 2 [IBT-1] E2010-076 |/ AAILb M16 % 140(SW.N) 8
2 | E2925-133 |7 —ALTL— 2 [[BT-2] E2010-056 | /< BRI+ M16 x 50(SW,PW.N) 4
3 | E2925-216 |[A—F—J L —1 1[|BT-3] E2010-060 |/ &AL+ M16 x 60 (SW.PW.N) 4
4 | E2925-517| R 7Y 306 2 [[BT-4] E2010-074 | A< AFIL - M16 % 100(SWN) 2
5 | E2025-132 |##s& 7L —F 2 ||BT-5} E2010-078 |/<AARILF M16 % 160 (SW,N) 4
6 | E2925-403 | hdA—5— 1 [[BT-6] E2010-075 | A &AL M16 % 130 (SWN) 2
7 | E2924-010 [hTBT 755wk |R 1 [[BT-7| E2010-077 |/ ARILE M16 % 150 (SW,N) ]
8 | E2024-011 [AT B T 54 vb L 1
9 | E2924-012 | AT TS5 FL—1 2
10 | E2700-054 |A— LE L 6x 35 2
11| E2024-013{ F—ALTS4vh 2
12 | E2924-014 |7 —ATS7rubTdL—1 2
13 | E2925-506 | v HE L, 2
14 | E2625-100 1) FE 2 fmm 2




EL | S—090801B

PN #t 066-8555 F g W L K ¥ 1 0 6 1 F i 2
TEL 0123—26—1123
FAX 0123—26—2412

FRREXP 06685 F i m £ K 1 0 6 1 F #h 2
TEL 0123—22—5 131
FAX 0123—26—2035

EEEEM 0084100 XEMEEHFLEHAORY 119 154 4
TEL 0162—82—1932
FAX 0162—82—1696

L EEM 080-2462 HLEWmA 2 2%F4d1TH1 2 &t 4
TEL 0155—37—3080
FAX 0155—37—5187

hiEREERT 086-1152 EF M piEF w2 TH16%2
TJTEL 0153—72—2624
FAX 0153—73—2540

FEIEEMOEARTILFMHE 1 111131 2 0FS3
TEL 0198—46—1311
FAX 0198—45—590909

il & E X/ 9830013 EHERWEHTEHRTERAHFFHEA179—1
TEL 022-388-8673
FAX 022-388-8735
INIDE XPT 323-0158 #F A B b bR 2 5 1 2 — 1
TEL 0285-49—1500
FAX 0285—-49—1560

= XAt 700-0973 RILEREELUMTILERFTHE704—-103
TEL 086—243—1147
FAX 086—243—1269

ABgEAT/MNMNLE 16 39 — 1
TEL 096—389—6650
FAX 096—389—6710

IR ERT 885-1202 ERBMEHMHE T SWETEEYE 1003 —2
TEL 0986—53—2222
FAX 0986—53—2233

TS EFEM 028-3172

DiE

HE KB X fr 861-8030

b

D.21.09.18



